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Attempt Five questions in all, selecting at least
two questions from each Section.

All questions carry equal marks.
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‘Distin"guish between economic growth and economic
development. What are the various determinants of economic
devélopment ?
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What are main causes behind the rapid growth of population
in India ? What measures have been taken by the

government to control population growth in India ?
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Examine the nature and causes of unemployment in India.. What
steps have been taken by the government to solve the
problem ?
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Discuss the m_:ﬁn objectives of the planning process in India.

.

What factors have impeded the achievement of the objective

of poverty alleviation ?
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Explain the paradox of high rate 'of saving and investment and
low rates of economic growth in Indian economy in recent
years.
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SECTION B
What is Green Revolution ? How far has it been able to solve
India’s fdod problem ?
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* Explain the need and scope of tenancy legislation and land
ceﬂing norms in India. Critically analyze the condition of

agricultural labourers in India.
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Examine the role played by the public sector. enterprises in
the economic development of India. What are the main

reasons for their poor performance ?
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Distinguish between balance of trade and balance of payments.‘
Point out the reasons for the .adverse balance of payments
situation in India.
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Write short notes on any two : 7%, T

(@)  Agricultural mafketing in India;
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(&)  Sources of Industrial Finance
(¢)  Instruments of Monetary Policy

(@) Direct Foreign Investment in India.
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